





Disposable Sleeves

Polyethylene Sleeves





Polyethylene Sleeves, 0.75 mil

- Flexible / Comfortable
- · Compliant for contact with food
- Elasticized at both ends for full arm protection
- Available in an array of colours for HACCP compliance
- Fluid resistant

End User Industries:

- · Healthcare & Medical
- Food & Beverage
- · Manufacturing & Industrial
- Personal Care & Beauty
- · Institutional & Commercial Services

Colour	Measurements	Item#
White	16" x 8"	155W
Yellow	16" x 8"	155Y
Blue	16" x 8"	155B

• 100 Sleeves x 20 Bags = 2000 Sleeves Per Case



COVER ME

Polyethylene Sleeves, 1mil

Available in multiple colours for HACCP compliance
Double elastics at both ends for extra durability and protection

Flexible and lightweight for ease of use











- Healthcare & Medical
- Food & Beverage
- Manufacturing & Industrial
- Personal Care & Beauty
- Institutional & Commercial Services

Colour	Measurements	Item#
White	18" x 8"	33-113

18" x 8'

• 100 Sleeves x 20 Bags = 2000 Sleeves Per Case

33-513



Fluid resistant









Polyethylene Sleeves, 1.5 mil

- Compliant for contact with food
- Abrasion / Snag / Tear Resistance
- Elasticized at both ends for full arm protection
- Excellent protection against liquids or chemicals



End User Industries:

- Healthcare & Medical
- Food & Beverage
- Manufacturing & Industrial
- Personal Care & Beauty
- Institutional & Commercial Services

Colour	Measurements	Item#
Blue	18" x 8"	33-523

• 100 Sleeves x 20 Bags = 2000 Sleeves Per Case









Reusable Sleeves

Microporous Sleeves



COVERME[™] XP1000

- **Microporous Sleeves**
- Protection from dry particles Great for use in hot & humid conditions
- · Provides adequate protection from liquids
- · Low-linting fabric that reduces contamination

End User Industries:

- Healthcare & Medical
- Food & Beverage
- Manufacturing & Industrial
- Technology & Electronics
- Facilities & Maintenance Services

Colour	Measurements	Item#
White	18" x 8.5"	40-951

• 50 Sleeves x 4 Bags = 200 Sleeves Per Case







SMS Sleeves



End User Industries:

- Healthcare & Medical
- Food & Beverage
- Manufacturing & Industrial
- Technology & Electronics
- Facilities & Maintenance Services

Colour	Measurements	Item#
White	21"	39-951

• 50 Sleeves x 4 Bags = 200 Sleeves Per Case



SMS Sleeves

- Ideal for hot and humid work conditions
- Made from breathable SMS Polypropylene fabric
- Good barrier from particulate matter and liquid splash









Reusable Sleeves

Polyurethane Sleeves





End User Industries:

- Healthcare & Medical
- Food & Beverage
- · Chemical & Processing
- Agriculture & Aquaculture
- Personal Care & Beauty

Colour	Measurements	Item#
White	18"	39-368W
Blue	18"	39-368B
Yellow	18"	39-368Y

• 12 Sleeves x 8 Bags = 96 Sleeves Per Case

COVERME[™]

Polyurethane Sleeves, 5.5mil

- · Compliant for contact with food
- Abrasion / Snag / Tear Resistance
- Chemical / Solvent Resistance Moderate
- Available in an array of colours for HACCP compliance
- · Die cut and seamless to eliminate bacteria and dirt traps







Vinyl Sleeves





End User Industries:

- Healthcare & Medical
- Food & Beverage
- Chemical & Processing
- · Agriculture & Aquaculture
- Personal Care & Beauty
- Colour Measurements Item# White 18" 43-032 18" 43-532

20 Sleeves x 5 Bags = 100 Sleeves Per Case

COVERME CoverMe Vinyl Sleeves, 8mil

- Compliant for contact with food
- Made from premium quality PVC
- Abrasion / Snag / Tear Resistance
- · Flexible and lightweight for ease of use & clean
- · Elasticized at both ends for full arm protection









Cut Resistant **Sleeves**

HPPE Sleeves



End User Industries:

- · Food & Beverage Processing
- · Manufacturing & Industrial
- Metal Processing & Fabrication
- · Glass & Materials Manufacturing
- · Construction & Building

Colour	Size	Item#
Grey	18"	68-774-18

- 10 Sleeves x 10 Bags = 100 Sleeves Per Case
- Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case

PRMACUT

Cut Resistant HPPE Sleeves With Velcro Closure and Thumbloop, ANSI/ISEA 105 Cut Level A7

- Sleeves with high level of cut resistance are knit from HPPE allowing heat to dissipate away from body
- · Abrasion, tear, and cut resistant
- Adjustable velcro closure to ensure fitting and comfort
- Nylon thumbloops prevent sleeves from riding up and ensure comfort and safety













End User Industries:

- Food & Beverage Processing
- Manufacturing & Industrial
- Metal Processing & Fabrication
- Glass & Materials Manufacturing
- Construction & Building

Colour	Size	Item#
Grey	18"	68-474-18

- 10 Sleeves x 10 Bags = 100 Sleeves Per Case
- Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case

PRMACUT

Cut Resistant HPPE Sleeves With Velcro Closure and Thumbloop, ANSI/ISEA 105 Cut Level A4

- Sleeves with high level of cut resistance are knit from HPPE allowing heat to dissipate away from body
- · Abrasion, tear, and cut resistant
- Adjustable velcro closure to ensure fitting and comfort
- · Nylon thumbloops prevent sleeves from riding up and ensure comfort and safety











End User Industries:

- Food & Beverage
- Aquaculture & Fisheries
- Manufacturing & Industrial
- Metal Processing & Fabrication
- Waste Management & Recycling
- Colour Size Item# Grey 18" 68-514-18
- 10 Sleeves x 10 Bags = 100 Sleeves Per Case
- Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case

PRIMACUT

Cut Resistant HPPE Sleeves With Thumbhole, Cut level D

- Easy to wash and reuse
- · Abrasion, tear, and cut resistant
- Thumbloops prevent sleeves from riding up
- Heavy duty cut resistance EN388 Cut Level D
- Sleeves with high level of cut resistance are knit from HPPE allowing heat to dissipate away from body





Cut Resistant Sleeves

Heat & Cut Resistant Sleeves



End User Industries:

- · Construction & Building
- Manufacturing & Industrial
- Warehousing & Logistics
- Carpentry & Woodworking
- · General Commercial & Industrial

Item#	Size	Thumbhole
68-203-10	10"	No
68-203-12	12"	No
68-203-14	14"	No
68-203-14TH	14"	Yes
68-203-18	18"	No
68-203-18TH	18"	Yes

PRMACUT

2-Ply Lightweight Aramid Cut Resistant Sleeves, Yellow, ANSI/ISEA 105 Cut Level A3

- Made from aramid fibre, the sleeves deliver excellent protection from cut, slash, and abrasion hazards in the workplace
- Aramid material is inherently flame-resistant and can withstand heat up to 200° C (400° F) without degrading
- Soft and can stretch to fit most arm sizes
- EN 388-2016 Cut level C
- EN 407 contact heat level 1
- · Free from Azo dye component
- 10 Sleeves x 10 Bags = 100 Sleeves Per Case
- Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case









End User Industries:

- Automotive & Assembly
- Construction & Building
- Manufacturing & Production
- · Facility Services & Maintenance
- · Food Processing
- Canning

Item#	Size	Thumbhole
68-103-18THC	18"	Yes
68-103-22THC	22"	Yes

 10 Sleeves x 10 Bags = 100 Sleeves Per Case Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case

PRIMACUT"

Aramid Cut-Resistant Sleeves with Cotton Liner and Thumbhole, ANSI/ISEA 105 Cut Level A2, Abrasion Level 2

- Made from Aramid fibres with interior cotton lining, these sleeves are comfortable to wear throughout the day
- Aramid material is inherently flame-resistant and can withstand heat up to 200° C (400° F) without degrading
- EN 388-2016 Cut level B
- EN 407 contact heat level 1
- Sleeves provide ANSI/ISEA 105 Cut Level A2 & Abrasion Level 2 protection
- Free from Azo dye component











End User Industries:

- Food & Beverage
- Manufacturing & Industrial
- Metal Processing & Fabrication
- Aquaculture & Fisheries
- Waste Management & Recycling

Item#	Size	Thumbhole
68-203-14THL	14"	Yes

- 10 Sleeves x 10 Bags = 100 Sleeves Per Case
- Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case

PRIMACUT

2-Ply Lightweight Aramid Cut Sleeves with Thumbhole and Leather Pad

- Made from aramid fibre, the sleeves deliver excellent protection from cut, slash, and abrasion hazards in the workplace
- Features a thumb slot and leather pad for added comfort and protection
- Aramid material is inherently flame-resistant and can withstand heat up to 200° C (400° F) without degrading
- Soft and can stretch to fit most arm sizes
- Free from Azo dye component
- Expected to meet ANSI/ISEA 105 Cut A4 Level



Cut Resistant Sleeves



End User Industries:

- Food & Beverage
- · Manufacturing & Industrial
- Metal Processing & Fabrication
- Aquaculture & Fisheries
- Waste Management & Recycling

Item#	Size	Layers of fabric
68-103-14	14"	Double-Ply
68-103-18	18"	Single-Ply

- 10 Sleeves x 10 Bags = 100 Sleeves Per Case
- Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case

PRIMACUT

Lightweight Aramid Cut Resistant Sleeves, Yellow, ANSI/ISEA 105 Cut Level A3

- Made from aramid fibre, the sleeves deliver excellent protection from cut, slash, and abrasion hazards in the workplace
- Aramid material is inherently flame-resistant and can withstand heat up to 200° C (400° F) without degrading
- EN 388-2016 Cut level C
- EN 407 contact heat level 1
- · Free from Azo dye component







Sustainable Sleeves Made From Recycled Material



End User Industries:

- Construction & Building
- Manufacturing & Industrial
- Warehousing & Logistics
- Carpentry & Woodworking
- General Commercial & Industrial

Size	Item#
12"	68-202-12
14"	68-202-14
18"	68-202-18

- 10 Sleeves x 10 Bags = 100 Sleeves Per Case
- Vend pack: 25 Pair Sleeves x 2 Bags = 50 Pair Sleeves Per Case

PRIMACUT

Tubular Knit rPET Sleeves Without Thumbhole, Black, ANSI/ISEA 105 Cut Level A2

- Crafted from recycled polyethylene terephthalate (rPET).
- 96.5% Recycled PET content by sleeve weight
- Delivers excellent protection from cut, slash and abrasion hazards in the workplace
- · Provides superior snag, tear, abrasion and cut resistance
- Sleeves provide ANSI/ISEA 105 cut level A2 protection
- Free from azo dyes and benzidine compounds
- · Available in 12-inch, 14-inch & 18-inch lengths options







Welding Sleeves



End User Industries:

- Construction & Building
- Energy & Utilities
- · Manufacturing & Industrial
- Oil & Gas
- · Marine & Shipbuilding

Item#	Size	Thumbhole
68-097-22	22"	No

• 6 Pairs x 4 Bags = 24 Pairs Per Case



Premium Top Grain Goatskin & FR Cotton Welding & Grinding Sleeves

- Features premium top grain goatskin material extending from wrist to upper arm
- The upper sleeve is constructed with royal blue 9 oz flame retardant cotton
- The goatskin section measures 18" in length, with a total sleeve length of 22"
- Equipped with 2 1/4" external elastic bands at both ends to secure the sleeve firmly on the arm
- · All construction utilizes aramid thread for enhanced durability

